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Consider the following “random walker” in hypercube space:

1) Start at a random node S (the “current node”).

(How do we generate such a node?)

2) Select, at random, one of the N neighbors of S, call it S’
3) If (f(S’) —1(S)) > 0, move to S’, i.e. set S :=§’
(i.e., jump to node with better value)

else with probability e”(f(S’)-f(S))/T move to S’, i.e., set S := S’

4) Go back to 2)
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Prob(S) = e (f(S)/T) / Z
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1) Start at a random node S (the “current node”).

(How do we generate such a node?)
2) Select, at random, one of the N neighbors of S, call it S’
3) If (f(S’) —1(S)) > 0, move to S’, i.e. set S := S’

(i.e., jump to node with better value)

else with probability e (f(S’)-f(S))/T move to S’, i.e., set S := S’

4) Go back to 2) ¢ (7
o -
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Prob(S) = e*(f(S)/T) / Z

Prob(S) = e (f(S)/T) / Z




